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1º)                                                                                      
Lado;
A: Isósceles
B: Escaleno
C: Equilátero
D: Escaleno
Ângulo;
A: Acutângulo
B: Obtusângulo
C: Retângulo
D: Retângulo
E: Acutângulo
F: Obtusângulo


2º)
Trapézio;
A: isósceles
B: trapézio retângulo 
C: escaleno
D: isósceles
E: escaleno
F: trapézio retângulo 
Paralelogramo;
A: losango
B: quadrado
C: losango
D: retângulo
E: losango
F: losango

3º)
X=12

4º) 
a) X=30
b) X=45; Y=60

5º)
a) X=130
b)  X=50

6º)
A, B, C, F

7º)
   X=75

8º)
X= 50; Y= 90

9º)
X=28; Y=62

10º)
a) X=5; Y=2
b) 10



